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EXAM III (6/15/2016) Dept. Chem. & Biol. Eng., Korea Univ. Prof. D. J. Ahn
Closed Book 100+, 1414

1(30). 9# ¢+ (1 atm)atell A 2k 1 mole] 22 A, Bo] %7} 208 K= H-E 473 K= etz W, AHT,
AHE, ASO, ASES s AN Q. EF 473 KollA A->2B9] WHSo] Aol wf A HY A LSS At
BAl 2. (298K A standard enthalpy of formation: Afo:QQél.lkJmol_l, Ang):OOLT’_ standard
molar entropy¥ S§ = 239.97JK 'mol ', S§ = 116.135JK 'mol )

[%1. Standard enthalpies of fusion and vaporization at the transition temperature]

T,/ K A HO ) (kJmol™ ") T,/ K Ay H | (kJmol™ ")
A 195.4 5.652 239.7 23.35
B 386.8 15.52 458.4 41.80

[#2. Temperature variation of molar heat capacities, C,,./(JK 'mol” ') =a+bT+c/T"]

a b/ (107 2K ¢/ (10°K?)
Ag) 29.75 25.1 ~1.55
B(g) 37.40 0.59 -0.71
A(l) 79.5 0 0

B(l) 80.33 0 0
A(s) 20.67 12.38 0
B(s) 40.12 49.79 0

2(20). 1 mole] @LXEA} perfect gas”} closed systemollA] 18 13} o] reversible isothermal process
(1—2), isochoric process (2—3), reversible adiabatic process (3—4), Z1¥]il isobaric process (4—1)¢]
TR FAE Atk (A)eAA Fa7p F w2 Frkeklal, (B)eAlel A 257 400 K(73) = <718t
Ak 2 FHGEA (A), (B), (C), (D) & AA Cycledl W3l q, w, AU, AH, AS9] ks AAFeAI L. (7]1A]9]
Z7] AEE 1.00atm, 22.44 dm®©]T}.)
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3(41). A &35 A9 B9 activity coefficientss= Margules equatione 93T lny, = Bxg® and Inyg

= Bxa® where B = w/RT.
(a:7) Gibb’s free energy of mixing( A, G)ol 3k #A

2] .
(b:10) (a)o] #AAAS o] &3t %“:'1117} dojup= AAS B #E Tt B @kl wE A, BY EdAE
o el AHsA L. (28 2 F=x)
(¢:7) x4,—0% w, Henry constant® Ta}i o2 o] &3te] B %] W37} partial pressure curve$t Henry
constantol] T X ogke| ] HAEA L

(d:10) ZAo WE Excess properties(GF, SF, and HF)E Tl EASHA L. o] o, AA] &£3+E 0] Regular
1‘;1__:

solutionQ1 A FAE3FA| .. (% G¥/nRT, S¥/nR, HY/nRT vs x & EA])
(er7) o] EFES 831, & u AF&sks AAFE of~AlL (UF)E st skoh 1 ks ek

_’I_



4(20). Raoult’s Laws w2 o] EA &3t&Ed] U3t Pxy VLE AHI =7 19 39 Foxt. &3 7

$-2] Z7]¢to] 37.38 kPa, 47.12 kPao|t}.
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= | &3t =Ty,
(=58 B #=A)olA 25,=0.1% A3 TFES 2,=092 25 Fole TGS AASa VLE o2
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5(30). 22 44 1 barolA B2 A9l B2 A o|AEAY Txy AHEIAE Alg Eoltt

(a:6) 1% 49} 2" 5ol EFE g0l T, > T, > T, > T} & 257 } GAA e Wk ), 7 A

NN EAMSH BE FE 2HS THAL

(b:6) 6 mole] At 4 mole B Eg¢&Eo|] 17 49 HHILE wEvta I L7} d }o]
279 £AE T L. v AANS A7) A 2E ofEA 2dsof A MEsialL
(c:10) (b)9] ZFES %2 2% TollH AF T2 +23. o] FAQA F¥st dAES HAF(DOF
23, ZF Gl EAekeE BE G B A4S RIS
(d:4) L9 5ollA er = ey = e3® = E FAAOR UYERAS A9 7 AHeA DOFE ekl 49 ®
= o kA 2
(er4) 19 501]*1 NAEdE as 255 Alofste] AZF 97% o] 3Rl AAE F=st7] AF WHES Altbst
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1(30). s W77t A2, zgte] F7E o
E ur=9t} F&8 3 Hilsch vortex tube@}t
atm® 271 F71¢ 313 K, 1 atm®] AL
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2(20). 350 KollA n—Butane® Z7]%te] 9.4573

bar® o] A

ohjr o]

o] saturated—vapor®} saturated—liquid®] V,, = T-3FA] 2. (n—Butane]
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3(20). Carnot cyclee] 1.00 mol® van der Waals gas(P= VRbe%)% E———
2y B ALEstal 7] 225 Tyolth o] 7AlE e A (EA 1),
<=7t 77 2 w7k gl BT A 2). o]ojN T2U4ET F (P e
g
3), GEAFH (A Dl oaliA Hx el Folttt 2
[7]
(a:15) 7} ZADA 1, 2, 3, 49 AA Cycleo] W3l ¢, w, AU, ASe] HdA &
S T L.
(b:5) o] FAS &&ES okl perfect gas?l 459 HlusIA L.
B oU oP oH
# G = L5R, G, =25R, np= (T35)r == PH TS5y pnr= (57 Volume, V



